ER26FEE (FE16E) hETUA —/N\UT1 X vy TTIL T8

BERER
5F 6.398YARD PAR 72
¥ 5859YARD PAR 72
11A7H(E) BN 1518 (BF1064 . KF458) R IR B A Y —{BEER
=L K4 i@ ouT IN Gross HDCP NET
B | =2 B F 5 O 2o BILE 37 38 75 12 63
2 A ] O thqlliE 42 44 86 22 64
3 Hl & # IF O FMOE 36 40 76 12 64
4 = % E A O = 41 40 81 16 65
5 B B O TEDOK 45 44 89 24 65
6 N E R OE O W 41 40 81 15 66
7 £ B [E 7 O ¥ H 38 41 79 13 66
8 h B B i O il 5 41 38 79 12 67
9 F OBk #B X O| YJLA4REILX 38 38 76 9 67
10T | Bl #B F BB O —FIEE 49 45 94 25 69
R ¥ EHKA HBH 38 37 75 6 69
T B R 7 Bl % 44 46 90 21 69
= W O F E1AIR 39 43 82 13 69
T OB OB =X #EOC 45 48 93 24 69
15T | JIl # =X T AR5 44 40 84 14 70
BB {ERF = 44 43 87 17 70
NN P S Iz B I 5& 39 39 78 8 70
B sF IE & HEY IR 38 41 79 9 70
2 A J=F B E 42 44 86 16 70
20T | § B & I B [ % 44 44 88 17 71
B A M @ e3=E;; 45 46 91 20 71
EAN BE # Fr!)—&RE 40 44 84 13 71
7§ R & B ®iRC 38 42 80 9 71
= B sk 17T AR 38 45 83 12 71
25T | B I B G&h £/RC 47 42 89 17 72
H o o o 47 44 91 19 72
d & W — AR 39 38 77 5 72
& H & XA = LR 3 44 42 86 14 72
H E IE F HATE 45 43 88 16 72
5 H B YA IS 46 45 91 19 72
i K B = B 42 43 85 13 72
m 2 Ml =N 41 42 83 11 72
S mooxE 38 39 77 5 72
2 T B & HEZC 40 43 83 11 72
A H B = FERARE7IVR)- 39 41 80 8 72
kR K = AINE 7 43 47 90 18 72
= # it v AR VEY 40 44 84 12 72
B 3 B &h = [ 40 44 84 12 72
=2 B E 7 E1AIR 40 47 87 15 72
0T | & B X I KEDE 46 42 88 15 73
F A B AR AR5 41 38 79 6 73
A ¥ B E VAPZL 7S 42 39 81 8 73
B B F = FME 44 41 85 12 73

1/4R=

hETILTER




e mRIER

BF¥ 6,398YARD
¥ 5,859YARD

PAR 72
PAR 72

ER26FEE (FE16E) hETUA —/N\UT1 X vy TTIL T8

11A7H(E) BN 1518 (BF1064 . KF458) R IR B A Y —{BEER
=L K4 i@ ouT IN Gross HDCP NET
i A ELFRBKRE 45 43 88 15 73
# 8 B F 2 H 47 47 94 21 73
2 ;R &5\ Hf Bl % 41 41 82 9 73
m )l E 17 H = 43 44 87 14 73
H O =F+F ==} (1Tl 42 45 87 14 73
e M1 RCEF A)E 7 47 50 97 24 73
F % 8 HATE 37 43 80 7 73
= H B & 2 IR E 45 52 97 24 73
52T | ¥ H & A ;W 43 40 83 9 74
R it KEDE 42 39 81 7 74
-\ F+ 5 P 43 43 86 12 74
FEgEF B F ;W 43 46 89 15 74
N E K £ Bl & 39 43 82 8 74
oE#H F X FMRNE 41 45 86 12 74
X H B & £/RC 40 45 85 11 74
oy — 5 AR 37 47 84 10 74
60T | 3 H g2 BEEG 54 44 98 23 75
E K E X HFHOE 49 43 92 17 75
B xyrE 49 42 91 16 75
i B R 2 H 49 45 94 19 75
B 4 B Ot XKEDE 46 43 89 14 75
I A HiEE 7+-LAMESH 53 51 104 29 75
= £ F #& ELTFRBKRE 45 44 89 14 75
A B A KEDE 40 41 81 6 75
n 5 x # T 45 51 96 21 75
B BH = I £iRC 40 47 87 12 75
X W B A 7] R 41 50 91 16 75
NnT | & #* kR F ;W 52 49 101 25 76
W X OVO&EH ¥ b7 vy 48 48 96 20 76
% OIE 1B Y4V 4—=IVR 47 47 94 18 76
b B & 7 FAF X 41 42 83 7 76
E R B & m o % 40 40 80 4 76
2 )il ¥ £ K 41 42 83 7 76
A )l F 1t Y- bT vy 44 46 90 14 76
x K o = R E 44 48 92 16 76
i B E t HHEE 39 43 82 6 76
F H = ¥ H 43 49 92 16 76
AN H % & = = 39 47 86 10 76
5 B = 1E £ M} 39 47 86 10 76
15 ¥ =HKF TEDK 48 59 107 31 76
84T | k. O H =F INMMURX 51 42 93 16 77
£ o Bl X Bl & 44 40 84 7 77
R A)—L AR 44 42 86 9 77
2/4R= h&T )L &S



FR26FE(FE16E) PET U —N\UTaEvyTTIL TR

BF¥ 6,398YARD PAR 72
ZF 5,859YARD PAR 72

11A7H(E) BN 1518 (BF1064 . KF458) R IR B A Y —{BEER
=L K4 i@ ouT IN Gross HDCP NET
A ZEF = 46 44 90 13 77
d Il E B £iRC 46 46 92 15 77
& E E E & 43 43 86 9 77
K B M — Bl & 42 42 84 7 77
Nl ERE —EEE 47 49 96 19 77
X B mMRF Bl & 43 47 90 13 77
£ H pi:3 E W 42 46 88 11 77
o & 8 L 7 B 43 47 90 13 77
L B # F proy (11 %] 44 48 92 15 77
FFall M — g = 43 48 91 14 77
kR O HF B ¥ H 39 44 83 6 77
moH M = KEDE 46 52 98 21 77
XES M H TEDOK 44 49 93 16 77
N OE & C G A 40 49 89 12 77
10T | K H £ & Bl & 48 43 91 13 78
H £ =F — £RG 45 40 85 7 78
F H B F 2 LR E 47 44 91 13 78
h & & F Bl % 45 43 88 10 78
H & 5\ 2 Iy B2 IR 38 44 45 89 11 78
h E ® 2 Fx!)—LAY 44 44 88 10 78
. # & # YRV 44 45 89 11 78
5 # ) = 43 43 86 8 78
B &£ EHEXxF N 45 48 93 15 78
T & B & L EE 46 48 94 16 78
F & E % 4 40 46 86 8 78
ik #f & =2 FEEOGM 40 46 86 8 78
1M3T | K ¥ = & FME 47 42 89 10 79
b EARAR Hns 48 43 91 12 79
F I R/ M FIGE 47 45 92 13 79
= 33 B ik 43 44 87 8 79
AW R N A 44 47 91 12 79
Ml B & B N)-VEVERR 44 47 91 12 79
B M 8 F ®iRC 43 46 89 10 79
R OIEF Fl)—LAY 52 56 108 29 79
NI B = AEEC 44 47 91 12 79
= R F & Citl =p: X VYU 44 49 93 14 79
1237 | ¥k X H A i 50 47 97 17 80
* E B F i W 46 47 93 13 80
F B FEF FAF X 46 48 94 14 80
[if] X8 F JUAREILX 44 46 90 10 80
H E K B E1AIR 49 53 102 22 80
128T | & Il WMEF HFHOE 47 43 90 9 81
F £ IF HEZEG 55 51 106 25 81

3/4R— hERT L ER



FR26FE(FE16E) PET U —N\UTaEvyTTIL TR

B+ 6,398YARD PAR 72
¥ 5859YARD PAR 72

11A7H(E) BN 1518 (BF1064 . KF458) R IR B A Y —{BEER

=L K4 i@ ouT IN Gross HDCP NET
/Nl = BEEE 47 44 91 10 81
1 H m A& I B B 38 46 47 93 12 81
N F O F Iz B I8 5& 49 51 100 19 81
R ¥ 3] tUMY-) 45 48 93 12 81
E & & & % ik 41 49 90 9 81

135T | ¥ 1L 5 Cif =N Iy UR 48 49 97 15 82
w H # & ¥ H 47 48 95 13 82
N Hm A F Bl £ 47 50 97 15 82
X B Z— HB TEDRK 50 58 108 26 82
S H 8 F Bl % 39 50 89 7 82

140T | 3 B — 1A Fey Y NNES 55 51 106 23 83
B B B F —FI5E 55 52 107 24 83
h @B B A 2THE 46 44 90 7 83
w K EXEF 2 LR E 54 51 105 22 83

1447 | JIl R @l A HATE 50 47 97 13 84
m FE ELX = R E 45 46 91 7 84
B K # F Iz B %5 OO 51 57 108 24 84

147 | & JII # |& tUMY-) 46 52 98 13 85

148 | A W M H=& B W 51 46 97 11 86

149T | FH E A N A 50 45 95 8 87
A K 18 F e4=E:3 57 60 117 30 87

151 | K & & F H)—=YE VB 53 51 104 12 92

~ N & A K e 3=l Ri5

- E H # X FILE Ri5

- F & i = =E Ri5

- X K £ B =N Ri5

- N = = ;W Ri5

5%

SMARIZIE. RIBEFTEFENFEA, ONIFAESE, TYyFUJ -ROF7H—FTRE,

4/4R—=

hETILTER



